
Zruuururtnnul hil
22 Ulnr-trlrPh.Iun

a6 >> 2019p.

<<qnplrufr pd2\ru\rutr \htlnpntr>> OtrC .ld*n".lh hfrilnr-lrphhpntl tftuurnr-gtlnrl

pd2\ru\rutr brunrulntplnr-trLhplr \nqrfimpn2b) rqtrbp

.{6rupnr[r h]nf nrtrptrhp".l .lhp*f nrdruliluh burrTul ntpl nr-htthn
(Lrupnpruurnp-q+nbbpu{frtr hhrnruqnurnrplmtrtrhp[r rupdhptrhpp trhpuurrlrub $Q

2/h
Ufr2rurftnnrpluh rnhuru\P

Updtpp
(22 +puil)

1.1 Uruutnuqhrnlr \ntnrnrlrnrugfr s000

1.2 UruuLurqhuh L nbunrl rnrughru h pntdnul 10000

1.3 gnhuhnrlrurnhrl pru-fifurh l oFE 15000

LAt.4.t gntruhpr[rurn[r{ pnrdnul - \rupdrudrurfllhrn
hnuulhuurtugntrl rlhtrfh 4 oP

35000 45000

r.5/r.5.1 {tpptt umur2tlul htt rlhn*f nr-durllutr rf2ru\nul lt
trunnrrl

15000 20000

t.6lL.6.r trupntr[rlufnutrhp, trtprudrub t4nr-bq, brtil-tqh
htnurgnul

15000 20000

r.7/t.7.r $t hqrtntnuth, prupruluru[nqrnh Frugnr-rf 20000 25000

1.8 Uhb4urh[rtrtnh lftufrtttg hruugr[rub rltnuur[rubptrhplt

urnruqhuthtr rlhnrupntdrutruh tl2ru\nul
15000

t.9/t.9.r UrqhtqtUuilfhur 170000 220000

1.10/1.10.1 Urqttr+thrnnrfhru LuuiluFnuqlqhq 220000 280000

1. 1 1/1.1 1.1 Ltnrur{tunth htnugml 200000 260000

Ltur.l2.l Ltaruru runth hhnrugntrl l unrl rupnu\ilqhU 220000 280000

1.13/1.13.1 Lrrurrnh tluhtnlfnLh htnrugnul 240000 320000

LraLt4.r tftrqr[ubgurhruurntrl rlllu\rulilurtrlr uurruhg gruhgh

rundhph

180000 240000

1.15/1.15.1 &rqrlrubpruhruurnul tp\\rqrftuL[ runrubg gubgh
rundhph

280000 350000

t.t6/t.t6.L thlnnnrut rltb drqrlurbp runruhg Srut€h rupdtpft 260000 350000

t.t7lt.l7.l Oulburqh hhnrugntrl 300000 400000

1.18/1.18.1 .[hnurhrurnnrumtrtrtp luttfhqnhh {nu 385000 500000

r.t9/r.r9.1 $ruurnnttrnnrlfuu 470000 600000

r.201L.20.r 'IhLnut lunnnrh +nhllurlnnnrrl 70000 100000

t.zut.2r.t 'tltLprq ulnr.bUshru 25000 35000



tzul*zzt
1.231t.23.r

LzAL24.r
t.2511.25.1

tr Lirl-lrr nnr flrrrr nnnrfntlnnnr.thur 240000 310000

l=h 350000 4s0000

120000 r60000

lhuurpnr[ru1tnuilqru1]rtr nl oFquhq[rh nurnrgpbtntt 300000 400000

210000 270000
1.261t.26.1

t.2711.27.1

t.28/1.28.r

t.29/1.29.1

1.30/1.30.1

1.31/1.31.1

r.\Ur.32.1

TDL! f.

iDnpprubrurlrul NnnLgPbhFIr hhnrugnul rnh4rulfrtt

','ft nnrrrrrrrdr frrrir rrrrrrrrfrulrtrhnnul (rlhtrilr 5utf)

35000 50000

rDngpruburlrul ilrrntgPtrtFh htnrugnul pt4hrulnrp
...1.^-.."."a f'r* L /r l"hft tlr Srrrf\

70000 100000

Uhb brur[rufr nrlnqptrtp]r htnrugnuf rnhqu{bh

"'1.^^,,',rrrnfrrrft rrrrrrrrftrrfthtnnr rf (5url h lllilh)
70000 100000

Ukb brur[rufr ilnnr-gPLhFh htnrugnuf pb4hurbnrp

urhooruttuarftutr urrutrlurhhtrrnrrl (6url h ulqtD
120000 150000

.{,}rpruhrurnmplmtrtrhp h-g*thlt hfn[utrrprplult 300000 400000

.L[purhruuutplmtrtrhp uq]rputlftt
urhrutrourhhr hntrarruh nhrupntrl

3s0000 450000

150000 200000
1.33/1.33.1

r.34/1.34.r
1.35/1.35.1

t.361r.36.1

r.37/1.37.1

1.38i1.38.1

1.39/1.39.1

I lhrrnnnnohr r ruut unnutnrlhru
L,hphtr Bnlppulhh hurtrqnqgtrhplr ttq*+Irn .t r50000 200000

ahupruqFn\rntlnlr, qnlnr-lfr kqlrpn[u1htt h-t{*qlt
trnnrl u8p rntn ruhtr ruhqqrulrugrfturlp

50000 70000

Tltrrrrr rrr nnhlrr nnr nulh rlhnruonrrl 120000 150000
Y.--L---t-l-a-- r Jr L I v

ftlnr ramuhunnnrrf. druph rltnruqnul 150000 200000

'thunruq rurhrnhrnh Frugruqruurnlil urqhPh LmuuLgPnlil 150000 200000

Ulurnuhupr[ru-b b"t"th"tpttUnh ttU",uSnLtI 150000 200000

1.40/1.40.1

t.4UL.4t.r
r.4U1.42.1

fl, nhn rrrnhnh rlr nrlrn rlurntlhh rnnurhurutnut htnruqil-rf 1s0000 200000
.-_Ll_1-Ll-fl__-rrrrLY

'Tlhnhuhrur t nbnhr nilrutrhph htnrugnnl 150000 200000

'Tlnrnr-th huhphrruthtt h*tq*qh hE4qg4.ttl 1s0000 200000

r.4311.43.r

r.44lr.M.t
1.4511.45.1

Utrf lttt rnrupurbt[rubmplutr ru]urnruhrupr[rub

hrnrurft ubp'trtnh htnru gnul
200000 250000

h tntnt nuurndruth Alnurl nfrnul 300000 400000

Ilrrhtrhnh 2pgrutrgnq phprulnullgnul 300000 400000

t.46/1.46.r 9nprnnrlfnu 260000 3s0000

1.47/1.47.r Uhrutnnn ut urpuul Fn\uhufr prugruqruurnul 2s0000 330000

r.4811.48.r

r.49/r.49.r

1.50/1.50.1

fuBurlnr- rluuhruhruurntrl urnnrftulnrl 310000 400000

Gp2rutnu&h \rupn4 uulFPh oquuqFFhfturlp huurn
urqnl r[hprulrutrqtrnqru\ruh rlfrpuhrurnn rplnr-hlrtp

$ruprnrftutrlr rnhqh h U[r\nq]2]t
rl hnurhunnntBtnr-trlrtnhg hturn

M0000 420000

fu Burqnt rftuutrurhrurnnu.l phprutnu\grlu{n 340000 420000

1.51/1.51.1 gnlnrqpn\uthnndhur 400000 s50000

r.5ut.s2.l

r.s3l1.s3.1

.{,}nupurhruurnrplnr-trtrhp rlurhrutrur&h qbq&h

hhrhubrrnrratnr-trlrtnh drurftutnult

300000 390000

'Tlnrhrnnrurlrftu, hrurftulg{ulb rllrpurhruurmplnr-trtrhp 420000 570000



-{drupntlfr h]rilnr-trptrhpn{ nlFnlnqh*h*tr burnrul nr-1a1 nr-trtrtp
(Lrupnprurnnp-q+bhp*tlrtr hhrnruqnrnnrplnttrtrhplr rupdhptrhpg trhprunr[rub $!)

tJh Ulurnnpn2nul \ruil rllrpurhururnrplutr rutr{rutrnul updhpg
(22 ryuil)

Qntrlurplr lur+E
prup4rugruE

nhrqph hrurJrun

2.1 9rupd ututr&h\ ftututo.O 105000

2.2 Uruhutuh $hrfnq (ratqruurnr-rj) 105000

2.3 Uhrurnnurnhtrnq (rlhrurnnrnnttlrru) 105000

2.4 Ohulh rq1ruuulrlru $hilnqh \rurqur\gntplufp 180000

2.5 2hrunuurunhru nhuntur &L I\4AGPI hnurtnulrnrl 200000

2.612.6.7 UrlnnAnr prquhphhph gTrqnlnlplurh {}rpu:hruurnrplnttr 170000 220000

2.712.7.L Uhnrltlurrunh thurnruth htnrucurtrl 170000 220000

2.8t2.8.1 Onluttrnnilhu 170000 220000

2.9t2.9.1 bptr lr nl ilrutrh onlutt rnnrlhtu 200000 250000

2.1012.10.L UtlnnAnr- nl nTrnrd (uqurntnrrnr-tf) 170000 220000

2.1ll2.lt.r Uilnpdnr- qruurn{ubp (rurlpnq2ut1rubn-rpprh
rlhnututrqtrnrrj)

170000 220000

2.tu2.12.1 Lt{hahahiltLrnnilhu 170000 220000

2.L3/2.r3.1 Ilntlutrnrurlh qr luhth nhqhlrshu 200000 260000

2.|u2.14.r bnh\*.tlt rltnuurlrubphhp, npnLp qurhurtr2nul htr
rlhnu:lrurnruL tutr rlhqrurfurmBtnr-h

450000 500000

2.15t2.15.r IJhqrutnnruhh upttlnrur.lnpnr-tf 80000 105000

2.1612.t6.1 Ulunnnnzhf n4hppnglrurnnul;nuthul 40000 70000

2.17/2.17.1 'lltplqnr-rarutr glrurnnurnntfiuu 50000 100000

2.18 Llhqnrth unuruphh nurqdubph thuurutrhnh htnruor-tf 105000

2.19 Unrubrun tnt+hr niluhhnh hhnrumul 105000

2.2012.20.L Gruqrutrruttuqtn&h trhnilhqnr-trurhtr rfruuhurhruurnul 250000 340000

2.21/2.27.1 IIhq nth +hd hnuhtnu ttrnnrlhru 200000 260000

2.2U2.22.1 Zhuhh rlhqnrth ttrrnulrnqht hruunul 200000 250000

2.23t2.23.7 IJhqruhnnuLh nusdubph tt+utnqht hrurnnr-rf 200000 260000

2.2q2.24.1 IJhqruruunth dqhth tturnutnurht hruurnril 200000 260000

2.2512.2s.1 ljhqruuurnLh nr:rnr-cphhnh trtnrlhqnrtrurhl,l rlurutnuhruurnrtf 240000 340000

2.26/2.26.L Iluqhtur onhn$nthht nr-r tturnilhru 200000 250000

2.27t2.27.1 IJttq*o1rup!]r, rtlrqrubnprutrtrhplr L hpfl1ufthp[r ptuFhlrlr

ttrnnulrnruhlr rlrrrrnul L htnrucnul
230000 300000

2.28/2.28.1 Ll[rqrutnpruLh puph htnurgnul pug {}rpru}uuurnrplulfp 230000 300000

2.2912.29.t Ilnurqu{hh ilhqnrth uurnhtrnnr-nrurh qr ruurnhtul 230000 300000

2.30/2.30.1 IJhquutunth nhdhntnhtnrt h hruurnul 230000 300000

2.3u2.31.1 330000 430000

232n32.1 bphh*rflt rutlruqruh-rflrqruhnprutnuylrtr uhqtlhtlnlr
turruurnhtu

390000 s00000

2.33/2.33.r bnhttulh rupugtuh hrurnnul h nnhllurlnnnr-rl 390000 500000

2.34/2.U.1 bplt\*tfh pu{rhFh hhnrugnul (q}rhpJrpnurnrffnu) 340000 450000

2.3s .{rpurhruurngnrtrtrhp rutntfrqruqurhnrgrutr druttrullu\
TOT-nrl (runrutrq durrururlhhh)

340000

2.36/2.36.1 Uhqrurqrupth \ruphrnhplrqur ghru 10000 1s000

2.37n37.1 3]ruurnuurnr-tru1fr, nrphpprul \uphuhp]r thnlunul 5000 10000



{dupnqh hh.fnr-hptrhpntl LOf} brunrulnr-1p1nr-trtrhn
(Lupnpruurnp-q+bhp*tlrh hhrnruqnrnnrplnr-trtrtp[r rupdhptrhpp trhprunrlub 2htr)

zIh Lllr2rurftnnr-p3ruh urhuruft Updhpp
(22 tlputil)

9nuftuplr lutp
pup4tugurb

nhruphnnrLl
3.1 Uruutluqhrnh llnhunrlrnrughru 5000

3.U3.2.r €plr qnfnqtrhplr hhnrugru-tf plqhrutrnrp rutrq grutrugtfrurln 85000 110000
3.3/3.3.1 I\rtrnqluuur[r\ru 250000 320000
3.4/3.4.1 funrutnul qnfrqtrhp]r hhnrugnul 100000 140000
3.s/3.5.1 ZuilInFnrnntfhru, $pntrunurnrfhru, lptfnlr4nurnrlluu 150000 220000
3.6/3.6.r 140000 180000

3.7 Uhuryururntfluu ft phfu rutrhp) 50000
3.8 Uhul unulrLthru (rlhburhruuru[trhp) 150000

3.9/3.9.L U+hbnrnnrfhur 100000 130000
3.10/3.10.1 I\htnunbqlrlt\rnnrflru 170000 220000

3.11 €ph hurrnlb rhutnr-I1 hlnrurlrubptthfth phnquhru 8000
3.12 ruhghhtph hhnrugnul (hplfinqrtruLh) urtqurthL rutrqqurugtfturlp 70000

3.13/3.13.1 tuhgbLhnh htnugnnl (hp[\nqrftutr]r) pl4hrubnq utrqqrullgnlrurlp 100000 130000
3.14 fuhgil- htnurgnr-il (ilhrullqiluqh) rn\tu1frh rutrqqrulurgrtrurlp 40000

3.15/3.15.1 tuhgnr- hhnrugnul (rffnulparlutrlr) ptr{hutrnr-p rutrqgrulrugiluilp 70000 90000
3.16 lupqr\utr2url]rtr pp\u:4ru 15000

3.r7/3.17.t €ph lunanfh lqnriltrhplr hruurnul 15000 20000
3.18 Zu1' tnRturh tunnnjr qnrtrltrgluu 18000
3.19 !p[.ru\rutr2[r $nqrnrh\nq]r pnr-dnul 15000

3.20/3.20.1 Utnr4qulh I ruphhqgu\nqlru 10000 1s000
3.21 Uluh2f qhtrnnt 5000

3.2U3.22.1 Uhlprul|rtr luguhh htnrugnr-tf 5000 10000
3.23 6000
3.24 b{urnrufullh +nqb \rurnhrnhp}rqurghur 6000

3.25/3.25.L Uhphhq+unilhur 35000 50000
3.26/3.26.1 U11ub2f nur4]r\u1 rl[rpurhunnnrplnrtr 170000 220000

3.27 U\tub2f qqlqh hhnrugnul 20000

3.28 €p[ nulphp]r nhqnqJrg]lu (n\rhuug]uu) rnhquqhtr
urtrqqulrugr-truh rq rulrlutrtrhpnul

:r0000

3.29/3.29.L €p[ nulphp[ nhqnq[rg]nu (nbryrhurug]nu) ptr4hrutnrp
rutrq qrqurgrftuh ul ultilurhhhmril

85000 110000

3.30 €putft mplnr-tnr:lnunrp;utr 4ur4ruphgnril 15000

3.31/3.31.1 €llh hrnnnjr uurlqnlnu4u 5000 10000
3.3U3.32.1 tuhghhhph utfrnnl 80000 100000
3.33/3.33.1 IJfrtnru]nnhtp]r pntdnr-rf 110000 150000
334/334.1 Ukqurntqluurnfr\ru 200000 260000
3.3sl3.3s.1 Ounqluurnlrllu 200000 260000
3.36/3.36.r IJtt2lttr u\rutr2[r Qr:nqrurn[r{ nnpnnpnnf- prlpl1rupuqrutrp]r

2nr-lnnur[nlrnul-p/ru
110000 140000

3.37/3.37.1 Otr[nrprqrupunn$ruphhqnql uurn[rlru, urntrqh tturnrlhur 290000 350000
3.38/3.38.1 'lhupruurntrqJrprup purpruluulpqrnfr hruunu.l rntqrul]rh

rutrqqrulrugrlunfp
60000 80000



.{.dupnrl}r h}rilnr-trptthf-.1 {t1uu{rubpruprutnu\rutr ibrunrulntplntlrtrhp
(Lrupnpruurnp-qpnbhp*llrtr hhrnruqnrnnrplnrlrtrbplr updhptrhpp bkpuurr[rub sq

2/h IJ}r2rurtrnnrpluh rnhuru\g Updhpp
(22t1$utI)

clnrrtruplr

trutu
prup4rugrub

rlhulphpntd

4.L (DnpF rlhrnruqru\rutr \ntrurnpnt\ghurhhph hhnurgnr-rl 100000 130000

4.2 Uhb tlhrnurqru\rutr tptrurnpnr-\gllutrhplr hhnruguul 15s000 200000

4.314.3.1 'huurnur\]r, nuhupuplt,ilhq nuqpb (f"tglt rlhq+ulilrbg L

LnattrLnutnhs) tnunrlubpLhph tlfrpurhruurnrplnttrtrhp

100000 130000

4.44.4.r aururnrul;Jr, nrntnupruplr, 2 nulphplr (frugh rlhguhthg tt
tnnrlrtnutnhs) tnupdrubptrhplr rllrptuhruurnrplnlqhlL

130000 170000

4.5/4.5.r rlururnrul{r, nurhurprup[r, 3 L ru{hflr nulphp]r (fiugb qhgulilIbg L

tnnr-trtnutnhq; Unundrubptrtnh rllrpu:hruurnrplnttrtrhp

150000 210000

4.6/4.6.1 ilhqqufurfr, furntr\nulp]r \ntnp{rubghhp}r rl}rpruhruurnr-plnhhhp 150000 200000

4.7/4.7.1 ULpu\nulplr, p[nu\nulp]r, Ebllnulp]r, trppnlnp]r \nrnprlurbphhplt
rl hnuhurnntBtnttrtrhn

180000 240000

240000 3000004.814.8.1 drudrutrpulplr, \[r\nu[r]r, nLnPII,fhf*tltlt qnq]t
Lnrnnrlurbptrhnh rlhnufirurn.ntBtnr-lrtrtn

4.9/4.9.r truq\nulplr, tnlluupurq\]r nufirhp]r, nLDPb lpup{tubphhp[t
rlhnurhturnnrBtnttrtrhn

260000 330000

4.L0/4.10.1 Uq4pnulplr b llntrplr nulphplr \nrnptltu&phhplt
rlhnu:hrurnnmtnr-trhhn

420000 500000

4.11/4.rl.L Onpp ffhnlr L hurlrullgrplnr-trtrhplr {tnuunr-rlthp[t
rlhntr:hurnnrBtnr-trtrhn

1s0000 180000

4.1U4.12.L Uhb 21tplr L hurftu\gnrplnr-trtrhplr tfluunultrhp]r
rlhnu:hruurnmtnr-lrtrhn

180000 240000

4.13/4.r3.1 auurnrul;]r L nrntnuprup[r rl-pn bqhnlt hn4ru]uru[uutpft

dhnruhurnurtuh nrrtnnul
115000 157000

4.LA4J4.L Illrzttlt ho+tptt (nr-uruhn4, ruprltlphn4, lluluugtuqntll-

4ruuuru\rulhh hn+, bh\nulp-ruq+pulhL hq, upnhp-ptupul|tt
hur) hnrrruturutuuhnh t ntruhnrlrurnhrl pntdnu-l rutrq qrulrugnuln{

125000 160000

4.r5/4.15.1 I+zltlt t +hnlt (nr-uruh.n4, rupft\urhn4, truluurptuqnlq-

4ruuunu\u1bh bn+, Eb\nulp-ruqqpqbL bn4, upnr-trp-ptupulftt
hur) hnrtruturuhrnhnh rlhnufirurnrutuh nr4qntrl

270000 340000

4.16/4.16.L trrozoF l-ftplt (bbquhn4, \ntrpruqrylullttt h"+) lu4uluuluuhp[t
tntruhnrluuhrl pntdrul

150000 190000

4.L7/4.17.I ln2oF l-ftn}t (ELquln+, \ntrpuqrynulttlt lt-I) hn4utluutluuhplt
rl hnulunnrututr nrl nnrtl

340000 ,140000

4.18/4.18.1 thuurnrul;]r, trurluur4ruurnru\]r, qrup2ruqrupfr,
hruluruqumlrururunh h rlhq$ult urtrqruthtr bnrrrurhtr utlutnunrughur

130000 170000

4.L9/4.19.1 Lruluurpuqfir lprl upnr-trplt Zpf *ttlt rurlqntrnrug]ru 250000 320000

4.20/4.20.r tr-qlh $url ruqrlp[r 2F2urhb rurlqnunrug]ru 330000 420000

4.21/4.21.1 rrntrp-ruq4pru1]rtr hndr t\qurpu[\nrgug]ru 4s0000 550000

4.2U4.22.L ttnrnp{urbptrtp}r q}rqurul}rtr rutr2rupdrugut (t[hp[h {hp2nqp) 17000 22000

4.23/4.23.1 trnup{rubptrtp}r qbquu{}rtr rutr2rupdurgntil (urnnpfrL {hp2nqp) 21000 25000

4.244.24.L 2tntnupurplr rlrurntrhplr qlrqurqlrtr rutr2rupdurgnnf 8000 10000

4.25/4.25.L Orntnupuplr rfturntrhplr qfrqurul]rtr utr2rupdrugnr-rl rt2000 15000

4.25/4.26.t $]rphpqluqlrh utr2rupdrugntrl urnruhg Sbphpqluub rupdhp]r L2000 15000

4.27/4.27.1 Ounlrnr-[ hlnru{rubptttpltg ornrup dupilb[ hhrnugnr-tt L5000 20000



4.2814.28.1 Utrpulfir trnryulurulurnhplr rllrpruhrurnru\ruh nqrlntrl 200000 2s0000

4.29/4.29.1 Uht$u\t\unil[u 200000 2s0000

4.30/4.30.1 I Innr ft nh nuLntnh t nrn nrl urbohtnh nmdmrl trlurluourrhh Aorr rfnr] 160000 200000

4.3r/4.3L.L Uqalnulp[ \nrnprlrubpLhp[r pndnul \ilur]upu1[h &qptilnrl 200000 250000

4.3214.32.1 OnpF hqhph pnqutlpnrlluu 170000 200000

4.33/4.33.r lro2op b"+hnlt pmut\uunfful 200000 250000
4.3414.34.L 'llolotlt hn4uluufunhpfr h \nrnp{ruhtttplt \nhubp{rurnlrtl

rnrdnttl
50000 65000

4.35t4.35.1 'tlnlnr-\]r nhqh\g[u \rurl ouurhnurnrf[ru 250000 320000
4.36/4.36.1 ?uhprnrudrub llurf nldlr2u uhprnrudrub (tlhE hn+h

&llurlnrrnulnrl) tnrnnrlrubphhnh rlhnruhrutnrutruh pntdnlrl
350000 450000

4.37 Ilnum4hpilnqluurnlr\ru ilfh2U l5urP rftu\hphu s0000

4.38 Ilnurn4hprlnqpuurnlrllu 16-50urP r.tru\hptu 150000

4.39 Ilnunn4hprlnqlurutnflp,fltttlr 5 luP L rurl[ rftu\hphu 200000

4.40/4.40.t Uunplh {hp2nqp}r $lhglntrulh rlhp*h*rnu\ruh pnr-dnu.f 180000 250000
4.41/4.4L.r .{,hp2nqphhp} bb$hqgquE {hpphpfr, ]unqu\Lhp]r

rlhnurhrurnrutrrutr nnr-dntrf

100000 130000

4.4U4.42.1 ilhp2nqphhp[ FurFnFruq tnpuq3lugnrgntrhhp[r
rlhnurhurnut ruh nnldnrd

200000 250000

4.43/4.43.7 bplrrnruurup4ru\uh t\qnuurnqhkplr {rpuhrurnru\rutr pnrdnul 150000 200000
4.W4.M.1 Upnftpf nuftrhpf ournhnu]rhphq rffr2nr\rurlnp urqruprurnnr[ 250000 300000
4.4s/4.45.t Upntry[ nulptp]r ourntnu]rtrphq \nrftqphu]rnh-4[rurnpurtfgh"tt

urqtupuurnr]
300000 350000

4.46/4.46.7 Urytnulil+ ourntnulrtrptq rflr2nr-\rurlnp ruqruprurnnrl 300000 350000
4.47/4.47.t UAlnulXr[ ouuhnu]rtrphq llnrfrryhu[ntr-4]rurnpru\g]rntr

ruqruprurnn{
350000 450000

4.48 9ntrp-ruqlpulhh bn+b ttrl"qlnphqurqnpnuf rllrupbhn 400000

4.49 trntrp-ruq4prulbh hn+h ttAsqlmphqurlnpnnt unrnrul 600000

4.50 Luluurpruq!]r nulgrhplr lprnpt[ru&ptrhp]r ]rhuprurthryrryup UOU
zilqnq

150000

4.51/4.5r.L 2tnhupup[r \rutf nrntnuprup]r rtrurntrhpJr llu[uu4ruurnru\]r,
truluurqrup2uquFh I nuqFb lnrnprlrubpLhplr ]rtlnprutth4nr4up
UOU Zil{nq \urtt Eurlprurn}r &tll{npnr-tf rn\ru1}rtr
rutrqqtulurgrlunlp

25000 35000

4.s44.52.1 Iupnt$\ulptr ourntnrfJrhflrur rflptth 4[r1n\rug]ruqn{
{hpuhrurnruturtr Rntdnul ultruuuhlutill

300000 360000

4.53 Lurluupuq![ tr n*qtlt hupu]um]uur]r nrqrlnul h $]rpunr-tf
u\u1|rtr urtrqgrulrugrlurtr urtut chulund

20000

4.54 Lruluupruqlfr L f*q\lr lr:r4ruluru]urn[r nrqrlnul h $]rpunuf
utqurl[rtr uhqqurlugrrlruh rnrull Zil{hnn{

40000



tdrupnql hfnfnrtrptthp".l phpruqtrurlr\ brunuul nrpl nr-tilrhp
(Lrupnpruurnp-qpnbhpullrtr hhnruqnrnrnplnr-trtrhpfr rupdhptrkpp trhprunr[rub SL)

zlh Ulr2unftnnrpluL rnhuru\g

5.1 trrudrulnfnr-hph {uphlh lntnrnrlnrug}xu 10000

5.2 Uruutnughrnh t nlnrnu rnrughru 5000

5.3 Uruuhruqtrnh tnhunttrnruqhul h pntdnul 10000

5.4 gntruhnrhurnhrl nnrdntr"[ I onn 20000

s.s/s.s.1 gnbutnrlunnhrl pntdntrl 5-8 on utnqntBtrurlR 90000 120000

5.6/5.6.r gntrutnrlurnhrl pnrdnul 8- 14 on rnhnqntplrurlp 110000 150000

5.7/5.7',.t rrntruhnrlrurnhrl pnrdnul 15 h rurlhh on rnbnqnrplrurlp 150000 200000

5.8/5.E.1 Enhuhprlrurn[nl pnr-dnul (gtph\u1hb urnrug]rntnupntrl)

rlhtrth 4 on

30000 40000

5.gts.9.t trnLuhprlruufnl pntdntrl (gtph\u1bb urnrug]rnlnupntrf) 5-7

on

50000 70000

5.10/5.10.1 gnLutnrlrurnhrl pntdnul ilhlDL op rntn4ntplrurlp 50000 70000

{drupn{r h}rttnr-trpbhn"{ tftutr\ruFnldullutr burnrul nr-pl nr-htrhp
(Lrupnprurnnp-qnpbhprul[rtr htrnurqnurnrplnr-htrhp]r rupdhptrhpp trhpurmrlruE ihL)

a\ ZhnruqnrnnrpJruh rnhurullp

6.1 Uruutnuqhrnlr lntnrnrl rnrughru 5000

6.2 Urnrughnbun pnrdtftuh l onn 10000

6.3 Utnrughntrun Rnr-dnrrf 5 on uLnlnrralrurlF 50000

6.4/6.4.11 trntruhnrlrurnhrl pnrdnuf 6-7 olrnLnnnrBtrurlp 60000 90000

6.s/6.5.11 9nhuhnrhurnhrl nnrdnrd 8- I 4on rnlmr nrrarrurln 1110000 150000

6.6/6.6.11 9ntrutnrlrurnhrl pntdntrl 15 L udhh on rnbnqnrBrrur.tp 1510000 200000

6.7 9nhuhp{un[r{ pntdntr.f ghpt\ulhL urnrugfrntnupnul 6-8op
rnLnnnrBtuntp

45i000

6.8 trntruhp{rurnfnl pntdnul gtptUu{ hh urnrug[rnhrupnuf 3-5 op
rnLnqnrBtrur.tp

25i000



{,6rupnqp h}rdnrhptrhf*.1 q}rhh\n1nq}rru\rutr brurnrrul ntpl nr-hbhp
(Lupnpruurnp-qpnbhp-tlrh htrnruqnrnnrplnr-trtrhpfr rupdhptrhpp trhprun{rub !hh)

zt}J- Ufr2rurftnnpluh rnhuru\p Updhpg
(,Z apuf)

7.r Uruutnuqhuh ! nlnrnq rnruglnu 5000

7.2n.2.r Urnruqhntrun pnr-fifiuh l onn 10000 1s000

7.3/7.3'.1 Shnht rurhtr urnrughnbun Rnr-drftutr ! ntpu 4.5000 60000

7.M.4,.1 Ctph Uh-rI ht2urnglr rqrurnhplr FurFnlrull
trnpruqnlugnrplntlrtrtp[r htnrugnuf, rupqrulufr rqruputng[r
unlqnunurglnu \rurl h1t\rnpn\nb[qug[u,
nhq ht uurhhurnhnnut ilq hru

100000 130000

7.sn.5.r lh2urngh ilfr2tnuqurn]r hruunril, pruprnnfrttluh qtq[t
thurnruh htnrugnril

120000 150000

7.6/7.6t.1 LUNA, hh2urngh qruuhp[r qltuurn[r\ru, \nbuhp{rurn}nl
rlhnrltlrunilhu

230000 300000

7.7n.7',.L Unrprnnrnrul rupq3ilfrtlu1 h[rurnhptllnnrffnu,
urulqlrhqtllnnrtlll, orlrup[t\untlfu, ru4trhput\rnnrf]nu,
Arhunrutrh t hurnrut h l/tr rurl lr huurnttrutrhnh htntugntil

24,0000 300000

7.8n.8,.1 -[ruq[rtlu1 hfrurnhpt\rnnil[u 270000 3s0000

7.9n.9t.1 Snrnrul rupq5lf[rlnu1 h[rurnhptlryrnrffnu, .[ruqlrtnul

h[rurnhpt\rnnrf]nu rnpfrq1hpu, rl]rpruhrurnntplnr-trtrtp
urnuurhhurnhnttrnnilht ulnnl uutuh +trupnul

30r0000 390000

7.rcn.rc.| 'IfluqtrnurnfrQ lunqrupruu\nu1]nu 1010000 130000

7.|rn.LL.I Crlrunrutrtrhnh nhqhtghu (lruqrupuutnqhq iltpqn{) 250000 320000

7.t2n.D.r Zrur[hlntrlhhp[r h Ar[rupruh[r !]rurnrul[r hhnrugntr.f
(r ruurunruutnru ht rlhBnnnrl )

30r0000 390000

7.Bn.B.l Srulnulnrtr ftnqtpf prugnuf(purqrupruu\nutrf\ ilhpnan{) 250000 320000

7.t4n.14.1 ttntruhprlrurn[nl dftnrlt\unffu(prqrupruu\nq[r\
rlhranrunl)

3010000 390000

7.$n.r5.l Zqlrnplutr ruphhurnrulluL pl4huurnul utqulftt
utrqqurtruor-trurfn

t:t000 25000

7.r6nJ6.r ^lqJrnrylutr uphhurnrullutr pb4hruurnul gt4hrutnrp
rutrqqrutruqdrurlp

20000 35000

7.17 LU,II-h rnhnunnnrrl 1:t000

7.t8 LU'tI-h htnruqnrll 10000

7.19n.r9.t Upqrub+h funnnl[ qfrtrh\n1 nqfnullrutr ptpnr{ 1:r000 2s000



-{drupnrllr h}ntnrhptrhpn{ htt[h\ghntr brunrul nrp3 nr-trbhp
(Lrupnprurnnp-qFnlbp*tlrh hhrnruqnrnnplnrtrtrhpfr rupdhptrhpp trL purmrlrub ihq

2/h

8.1

Ulr2urlunrplurh rnhuru\p Updhpp
(lZ:r1pud)

Uuutulqhrnlr \nlnrnrlrnurghru
5000

Urnruqhnbuln nnddruh t oPTt 10000 15000

gnLuhprlrurnln[nttf pntdnril ghFh\ru]lrtr uuurghntnuFntrl 5000 7000

.{drupntl}r h[rtf nr-trptrhf-.1 hhtlnrfnuiltqlt bulnu1 nr.fdl nltr
(Lrupnpruurnp-qppbhprullrtr hhrnruqnuunplnr-trtrhplr rupdhptrhpp hhpurnrlrub 2lQ

zlh

9.1

I-I[r2ruiltnnrpluh urhuru\p Updhpg
(22nprurl)

Unrutrs nrahqph htrfqluftqlr 1 uhurtru 20000

9.2 Ornunhntntru Durtuprughbhph hhttn4huftqb 1 uhrutru 30000

.{drupn{r h[rilnrhphhf-.1 LruFnFurunF hhrnruqlnnnlPJ nr-lrtrbp

tJh Zhrnruqnrnntpgruh rnhuur[p Updhpg
(22 rrnrurf)

10.1 Q11nr-!nqu (ruplrutr rlhg) 1000

L0.2 Ctr4htutrnr-p uqllnrullnrg (ruplutr ilhZ) 1000

10.3 UXrnutlrtr (ruplurtr rlh2) 1500

10.4 Ufrqrutrlntp (ruptrutr ilhl) 1s00

10.5 trphturnhbhtr (ruptrutr rlhl) 1000

10.5 tr|r1 furnrp]rh (pttrfhut o+) 1500

LO.7 trhrhnnrnhtr (nqqrulrh) 1s00

10.8 Snhqhstphatrhn 1s00

10.9 tun1 hurnhplrtr (plqttubn4) 1500

10.10 a-lrnr hurnhnhh (trn L.TI-JIIIBII) 1500

10.11 s-[hr tuuhnhh (8n I,'[-JfiHII) 1s00

10.12 UUS (Uur{runrnrurnruilhlnrnTrurhu$hpruqru) 1500

10.13 UI.S (Ur rutrhtnurllrtrnrnpuhu$bpuqru) 1500

10.14 Lrul; rnunn4thlr4pnqhhruqru 1500

10.15 Zhrltnuthh $nu$rurnruqu 1s00

10.15 l[urililur-qt tnunrurlht rnnutru$hpruq ru 1500

r0.17 Urf[pqu 1500

10.18 flllftuunhrr qnntnh 2000

10.19 G-nhrulr rnhrl uru hrnutntg 2000

10.20

10.21

Zrulruuunhurnnr hqhh- O 2000

€runqttnh hrulrrubhtt CA 125 6000

L0.22 'llnnuuuu urqhqh$ht rullnhqhh PSA 6000

10.23 9ru1frntil,lu1 glrntrf ,hrurnplrntrl ftnhu\uh) 4000

10.24 Ururutr hnrilp 1000



10.25 flhqnru qnpbntr 1000

11.1 hLU( hphp. burnh$lurh rupruqnrplnrh) ESR 1000

tt.2 Uplruh trhrth. hhrn. th1\n$(18urrun.) CBC+Diff 2000
11.3 UnttuL ilqh. hhrn. fh[n$ ( 18qup.+ hLU) CBC+Diff+ ESR 3000
11.4 {lnnpnnilrhhul[h hl4hpu( utnnp.-ulo) PI 1500
11.5 Opnilpfrttul|rtr dulftuhurll TT 1500
11.6 $bpplrtrnqhb FG 1s00
IT,7 Ulur[rl.iluutr.ppnilFnu1. d-l] @rryB)APTT 1500
11.8 I.lnruhlrtlugtrna hnprJatr ( nnO) III 5000
11.9 $nft \nrplupruLlrl hnptln ISH 5000

11.10 Apnlu\u[h Prolactin 5000
11.11 nnphnhhll qntruuprnpnul|rtr HcGrbeta 11 5000
tL.12 aLhhaFnftqhu"'U'tuutpnh-unt1$rurn D1IEA-S 5000
11.13 U1$ru$hrnhnulpnrnhlrtr AFP 5000
11.14 fafrptn]uprutr]rlhnprtntr TSH 5000
I 1.15 falrpnpufrtr(ruqrurn) Ft4 5000
11.16 Zrul1rurftuptffrhhhp pfptn[ra q hpoppufr4uqruth trtunntfiln Anti-TPO 7000
IL.L7 Ilhptnqlruqrftu (punrp) U. Urealyticum 6000
11.18 Lllr\orqprqrlu @unp) M.Hominis 5000
11.19 .Fpnrghlnq npu\ru\utr ( Rose Bengal) BRU-AB 2000
11.20 Snpunqpuqilnq TOXO lgc 5000
tt.2l Sllnnrlhqulnrllrpnru CMV lgc 5000
tL.22 Llf$fulu RPR 2000
11.23 Zhqrurnlun <B> 4000
11.24 Zhululnlrur <C> 4000
71.25 Iupuffq]ru1]r htrnurqnurnr-p1nr-h 4000
11.26 Ugruh pt4hrutnrp ptrtnrpluilr

(dtuut}rs)
1000

11.27 Uru\tun+hlrnr-q nilr (rfurnhg) 500
11.28 Uplutr ptr4hrutrnrp pbhnrplnr-tr fi \n$nprtnrluln{

(ilurtnhg)
2000

11.29 Sfrnrlf nghtntrbph nlrn2nul 1000
11.30 1000
11.31 tE p2f2bhpf npn2nul 4000
11.32 Ilhrnhlp[nghutrhnh nFnZnr-il 1000
11.33 Fh$hqshnh dntpprliltnq 2000
Lt.34 Uhqh pt+hrutrn+ ptrtnrplnttr 1000
11.35 GupunpdbqhrlhZ 500
11.35 Ughunl+ tlhqhilhZ 500
11.37 Ltquqh$Ihhuhhn ilhqh iltz 500
11.38 €unrph htururqnurnrpl nr-h 2000
11.39 Uulhprlnqrurilrtu 5000
11.40 UUZ!h phhnl$ ptrhnrgnr-h 2000
11.41 TIhUq HTV 4000



{dupnrl}r hfnfnr-trptthp.l nf'ez hhrnruqnrnm-p1 ntlrtrhp

zth lhunuqnuntpluh rnhuru\p Updtpg
(22 rUrurl)

t2.l
12.2

Ilnnrhurtrh ntr4hrubn4 opqrutrtrhplr untnqpruSlnu 8000

btrBrurfiuzlrrurhb gn1rugnlpturtr h rlilurlrnr-\ hlnrur[rubptrhnh unbng1q{lt* 5000

12.3 {ruhutnuqt4 &h untrnqpnr'l[llu 6000

12.4 ttpbpruqtq&]r untrnqpruQhu 8000

t2.5 <thtrhhnt nqhrullrutr unLnqpruSh* -F*tto.l*gE*l 7000

12.6 ![htrhlr nr nqhrut urtr untrnqpru$fnu rnpruhurupqpilhhut s000

12.7 Gruqrutnu\ruqtq&fr unbnqnqQhut 5000

12.8 Onlrnh untrnqnur$hu 8000

12.9 Utrnptrhnh rprulltpu htrnruqnrnnrplnth 10000

12.10 Arnrrh nnufl hn hhrnruqnrnnrplnth 10000

12.11 En nuq 8000

t2.12 $qJr\nqnrlhrnpfnu 1000

.{drupn.lh hh.Inr-trptrhFnll nhtruqhh hhrnruqnunlpJ ntlrtrhp

zJh Zhrnruqnrnnqplutr rntuur\p Updtpp
(ZZ:nnrurf)

13.1 Srurrutrclrtnh ntlnnqttr qnru$hul 4000

r3.2 2hntlupruplr, hrufurupurq!]r, ruprfnr-h\nu$h, F*q|;l1 nrntnuprup]r,

tnmlrtnutnh, urrnr-trph nutnhnh, uq4nnulpfr nhllnqhtr qFru$hul
4000

13.3 UL\rutr, 6rudrutr2-rSuurnru\Jr, pruqllqfrtr, ruprlh\ru1hlt, oftfrp-prupulfrtr
hnrrhnh, tntrpruqnnuthtr hfflh, nrurulurnh nhlnnqttr qnlu$hul

4000

t3.4 gnhp-ruq4nrulhtr bn+tnh nhlnnqttr qFru$hur s000

13.5 gnbprurl rut+rut h nhlnnchh qnur$hur 5000

13.6 9nEpurlrutr+ruth nhtruqhh l nturutrgnurl 4000

13.7 Uqhuuuilnpurqhtr rnnrutrnh lnlnnpruura nhtnnqktr lnruruhgnul 8000

13.8 hpfrqnulnqlrur 15000

13.9 hpull nhrnnn nrpnqpru$fnu 25000

13.10 flhrnnncnur4 ntrrncnru$hru 15000

13.11 $hurnnrtnqnru$hru 10000

13.12 <ttutrqlr nhtnnqhtr qpru$hru 6000

13.13 Onhrulrunh ilhU hruurlrubh nhtnnqhh qnu$hu 6000

T3.L4 thnrutnunhnnh nhtnnqhh qnru$hu 3000

13.15 'Ihdrurhtr sruhqh, pBnutnh, hrunpBruhtr bnghnh nhtnnchtr qnur$hru 4r000



.{drupntlfr h}rilnrhphhpnt[ 2G hhrnruqnuilg nr-lrtrhp

zth 4ruh rnhuru\p Updtpp
(22+nrurt)

14.L 9Bh hrunruths lunnnfhhp 15000

t4.2 9nrh 30000

14.3 trpbprur[utl4tu\ 30000

14.4 flrrnrlurrtr 30000

t4.5 Ontnurrunh ( rIhU hrurn{ub) 30000

t4.6 Snqrupruhgntp hrurnrlublr rutlhlug.I*lu 4tqpnul q5nrftup[rtr ru{hlutrnrnl h Lu

10000 nnruil
t4.7 gnlnnpruurn trlnrplr ta/h trhprup\rftutr 4tirqpnul (30 h rurl\tlfh nhqpnr-rl) qpuftup[rtr ru{hlutrnuf k

hu 25000 4Iruil
14.8 rrntlnpruurn trlmp[r ta/h trhprupllftutr 4tir4pnn[ (rfhtt1lt 30,It-h 4hqpnrnf) q5nrftup]rtr rurlhlutmtil t

Lu 10000 +Frurf
t4.9 bntnr- urlurlu phprugpnul tmhtt u\h Zil \hu qhtr

2.ruilrur[drup]r u\rynrtrpnrl \rurnrupr.l.nq +filruFruttrutn2hfr hhrnurqnrnntplnttrtrhpfr

{drupntdhtph gurb\

2/h Urunrul nrpluh rnhurullp Updtpp
(22 nnrurl)

14.9 Zuilrullupq2ru1[rtr 2bprnruqpnrpSnttr I hurnrlrub uurrutrg t/t
t ntnnnruurnrurl nnrlurtr

5000

14.10 2rurtur\rupq2rul|rh 2hprnruqpmplmtr 2 hrurnrlrub uurrutrg l/h
tnhunruurnrurlnnrftuL

7500

t4.tr Zrurftulupq2rul[rh 2hprnruqpnrplnr-h 3 h u{\} hrurnrlurbhhp uurrutrg tr/t
t nhurnruuururl nnrjruh

10000

14.12 Zrurftu[rupqlu{bh 2hprnruqpnrplnth l hrurnrlrub ta/h \nlnnpruurnrur{np.rfturlp
(lrtnuurur tnlnnnruurn hnrBh undhpn)

8500

14.13 Zunlu\rupqlu{hh 2hprnruqrmplnrh 2 hrurnrlrub ta/h llntnnpruurnun{nprfrurlp
(htnuurrrul tntnnnururn hnBh rundhpn)

11000

14.14 Zrurftullupq2rulfrtr 2tprnruqpnplnr-tr 3 L u{\} hulnrlrubtrhn taft

tnlnnnruurnrurlnnrftuilp (hhnrurtrut tnllnnruurn hntBh rundhpp)
13s00

t4.15 9ryrnlnup qup\tpu\trhplr hurftu\rupq2rul]rtr 2hprnurqpntttn{
rutrq[rnqnu$lt* tlft llntnnpruurnrur[nprfturfp (trhpuurlul\nlnnpruurn trlntp]r
rundhpn)

13500

14.t6 Zurftu\urpq2ru1[rtr 2hprnurqprftutr phpugpnul hf{ulafh ruLqqrulugr.trutr

rundtp
3500



.Idrupnrlh hh.InrtrphhFnq. kL4nu\nulhq brunrulnrplnrtrtrhn
(I.rupnprurnnp-qpnbltpntllrtr hhrnruqnrnmplnr-htrtp[r updhphhpp hhpurnr[rub $L)

zth trd2\u\utr oqbnrplutr h uqruurup\ilruh rnhuru\trhpp h buunulnrplnrtrtrhpp Updhpp
(22 nnurl)

15.1 Uruutluqhrnlr \nlnrnqrnrug[ru 5000
15.2 rrnhrunl rnurghru, Fnrdnrrl 7000
15.3 $uuupnullnrqllu 1s000
1s.4 H.pylori / hlr$tUghu{}r npn2nuV 5000
15.5 Urnrurlnpuuq[pu;[rtr rnprulln[r ruplnr-hurhnunr-plutr tbanu\nrqhq

$u+ruFhgnul
50000

.{d upn{p hlnfnttrptrhnn{ ulupurtnuuntffrrullutr Surnrul nLpJ nltrtthn

2h Uuurrulnr-plutr rnhuur\p Updhpp
(ZZnnrurf)

16.1 afuhtpAnul 15000
t6.2 tltttuhh rquhulrutrnu.f uuurtluprutrnul I opp 10000
16.3 rlhu\h qurhqrutrnul 4|nuhtp&ruprulnuf I opp 5000

\{dupn{r hfrilnttrptrhpn{ 2uuruloqtrnrpJrutr brunruln-pJnr-htrhp

zlh Uuunul nrpl utr rnhuru\p Updhpp
(22 nnrurt)

17.t Zhrl*tlq}r rn\rurlrnlunul (<tnp[ru-Qrhrutr) 120000
17.2 Zlt l*tt+h tntqrurfnlunuf (enpfru-gruqrutr) s0000
17.3 Zhd*tt+h rnhrlurlrnfunul I ltil-h rundhpn s00

.Idupntll hlrilnr-trptrhn".l ptr4g-tnuprutrnr-il pnrdoqtrnrpl nr.tr
(Lupnpruurnp-qpnbhprullrtr hhrnruqnurnrplnr-trtrhp[r rupdhphhpp trhprunrlrub $tr)

zlh Uuurrulnrpluh rnturu\p Updkpp
(22 nnrurf)

18.1 Onpn brur]ru1 |r pnr-doqtrnrplnrtr 5000
18.2 Uhf hh bututJt pnr-doqbnrplnrh 10000
18.3 Uhb bu{ufr pnrdoqtnrplnr-h 15000
18.4 huq 2000



-Ldupnqh hh.f nr-trptrhFnq h[tlrutr4ruuht{ uill

zth Uurnrul nrplutr rnhuru\p Updhpg
(Zl nnrurf)

19.1 I iluMulurloF 5000

Zurttru{drunh uh+mbpn{ llrurnrup{nq .ld*nntrfhhpfr gruLtl

a\ Uuururlntplutr rnhuu$ Updhpp
(22 4pu:Lr.t)

Qnr-tfiuplrtu+E
ptululugrrub
nhurptn-nr-il

{rpupnrdru\rutr prudrutnfnttrpnril

1.0/1.0.0 Iumn2ru{np opqutrtrhp}r purfuubrulpnrl
(uqh\t\untfluu, lunlhglrurnt\rnnil]uu); Orlu\{urb
doq,l*h; {tp2nqptrhp}r \url qlutrg uhqrlhtlnhhp}r
utr+rurftuhrurnnul

50000 65000

1.0.1/1.0.10 Iunnnlru{np opqrutrhhp}r prut}luEru\nrtt Qr:ngh
\rupnul, urdrpb ilruuhurhruraatrf); Sruprubnr-h
qhnhurntrhrn

65000 85000

1.0.2/1.r0.20 Upunuplrh U hhpplrh (hpru\ru1]rtr h qrup\hprulpl[rtr )
qpn$nq urplnrtnr:lnunrp;nr-trtrhp

65000 85000

1.0.3 qlunqt+ lt qt ot{t+ rltluutlrubptrlhp}r (gL$Lq
lnbutpt[urn]r{ pnr-dnril

65000

4.0 nu$hp[ \nupr[rubptrhpfr rlfrptuhuutu\ruh pnr-dnnf

+ul1 illilUilADq (pruq\nulp, drudruLlnu[p,
urqryrnuftr, rlhb n1np, lpbool1p, {hgu1lp, Etrllnulp,
bnhtnutn, BhurtnuUn)

50000

4.0.1 nuftrtp[ \nrnprlrubphhp]r {Jrpurhrurntulptr pnr-dnul
(puq[nulp, drudruh2nutp, ilhE n1np, hFhohn,
{hqlu\F, Ebllnulp, hq}rlpulp, p}uu\nu[r) uurtubg

! nhuupnr! ghurhhnh rundhph

65000

4.0.21 Uq4pnulp[ ournhnu]rhptq (runruhg

\ntrurnpnr-lghulhtpb updhplr)
100000

4.0.3 f\tnu2up[, Inbplr nulphp]r l1nup{u&phhp}r
tpLuhprlrurnlnl pnr-dnr-il

85000
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5.0 hlnrnrSn (hhlnnruqhh, hZhrlhlD 60000

5.0.1 Un4$$uplp 40000

s.0.2 Un4 hplrlprftulfrtr rutrprurlruprupnrplnr-h 50000

ctfhh\n1nqflullutr prudrutnfnrtrpnul

7.0n.a.1 Uprnrurupqut+*tlttt \lrnr-p3mtr; d,rlruprutrtrhplr
nhqt\gluu (uqnqlhpullu); nlnprlruE t$urnutrhplr,
hhfurnqr[ruE rf]rnilruurnq hruhpqg]r, prupru]uu\tu1[ruE
qqugmgnfthhp[, 6hrl*t il[nrftu1[r hhnrugnr-tf;

65000 85000
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77.1 lh{utnh uhnrurhnlunrrl (ll.nnhu-bnhruL) 120000
17.2 Zh+ut4h rnklrurlrnfunul ($nplru-9ruu1rub) 5fino
17.3 Zh{wtqh rntnrurhnhnul I til-h rundtpn 500
17.4 Zh,l.tilt+h u\rufultmnt (clnp[ru-U]ru[nutr)

($nnhu- trtnAnn)
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